2021/12/06 (B) ®L  %$1706HHE RO EEFAIEEYHO— (http://net-banba.com) [Freehk] 5o ci3ni [

O©DRIEISROFDETIBETAFTELT LR
ek 18:50 _ - = A REGEE | =707 02030008k, BRI
= EFE R | USesmeTan. S0BRGNED LT
- (b C Ib\o =1 B ot BT Bz
= B2-GE& ME 250000  @87000 (3 50000 @22000  ® 15000
<Wnn&)> )= =) - - — .
-0} Al FERT 4 FERT 5 7RI s e TN | [BEH| K | RE% | 265
v &L EE HES 1 ERT 2 FERT 3 FERI il B ‘
e LIATZRIT s 3699 11/15 8R OF 7% 7)\2 B11 45 mR&”&]J%EISE% 1%)2% 1Bo1 1§ S8R Of 5& 1%% 81%) 43 B8R 4%F B91363 8R 10?‘22 8 B B c B B BRI AES
i - 90 B1-48E, 12 BI-4EE, 08 W F 2.3% 612 . VT
1 110AAYS JD—-D2R 7 oo B I 7 e B oa O |08 36725 E“’Ee%g 3 ﬁsg@ 5 | sesskrirs E%%;;:)Dimr\bk‘_tﬁﬁﬁjﬁa 249 com 1 6 4 2 3
U4, oU. 53 V0.0 4 E3 v oo FENABTEL
00 PR o e S Do g IR s gl i e JR O TR mE 6 431 5
ER LA ALk 3629 11/15_ _8R 9F b5&F 8K 6 0 / 2 o0
BERT H10m 157|B1- 488 1065|B1-4i28 FFILEE  1082|B1-3 _1085/B1-3 B1-3 -
2 28 BFH 2o ceng il O | 5% LTO06 BEE T o) o o7ox BRE U0 28 U 20 B s e mms, ABMET | | {RIE 6‘ 4‘ 7‘ 1 ‘ 9‘
8 12069 4 5% 2136 5% 5% 2083 3% L ALY R N,
T amse 680 DU BRI mmem 81 595500 WEF| 37,9 ﬁgf/%gv e 23 “105975”"‘4 )%3!%7:‘”%2(5)é %7521%012%0;§ e ‘ 5 ‘ 5 ‘ . ‘ 5
Boansal ~ e AN T T e 75/B2°5 miEsES AT 980|B2-5 B2-2 770 RiE
BAYILY B 436|B1-488 __ 979 B3-88& L 416 E'}? Lk me 324 2% TTI7 - — - :
33 AA BARNIFAIY 5 1588 B e 1 (s Bl 5 po1an BT 5 [tk | 5 | sk 1T EENSEENTH. BREUSE
@k = — 1.58.8 35 62 1.34.5 31 /16N 47 S 29 /22N16 | B | iz 25% | 6% | CHFATCEELREND % 6 6 46 6
T omse 680 FFE BIC  emmw 0.0 757{;{5;— m?]mg ]1(.)'% aéi/—xz/%y&& 1%751121; 58.F? Pg_hxzéyg_gk f%g':iﬂ- %.Ogg %75113;0 AA%% ol g ‘ 2 ‘ B ‘ B ‘ 5 i
Bzoniie HT 4%? VAR SR O AE A -5EE EREE 7/B1-3 1034|B1-3 B1-2 307 3 NN N NN
EoALFE: ' B1-4E 1057 B2-575 mEmER _103) - ‘ o~
4 4 AOOTRD k4 —A— 83 esox mER 2 33 GT0C PR 6 |oo0s  BET S | &0k O | eedk T T EURNEERORBIBURETRES | | a 7777110
" iy 2 11532 34/ T9NB0 145.2 54 2024 4 69 BUSHEL | | gy | 29% 19% | BBV, BEBEFAITFONG
wEEL 680 BB BE  lemmu 44 75w%w— FEHG| 41 78?8%\/%—)\ Hog| 1.3 z?my@iﬁ—u 2‘0’3%“10%2§§ L 2 F1{.5§§ 7 2 ‘ 5 ‘ . ‘ ¢ =
T ARFTS 2895 11/21 9R OF 4% 4A g CI0R_ g 2 I
/ M -5RE mEEEE 1003|B25 MEHS5vA 1 1000 B2-4 B2-5 71
50 A ?5575& J 4§tzﬁ:>< HEZD aa ook mRE 53-3%%‘%5.*’@”@ 7 o 1% BE| S | daok | T | 3ok (16 MELFEEATENS. #HNSEE | 3 P 6 4 7
i 2l 71544 31y Toes 5 1504 30 60 2096 31 15\ FEE | SAMARE | 235 6% [{RUTTHDAT A THEENENULL &
T = 650 &B FB lgsmul 192 973?5/“\ wi-w 190g js?s%lez_)\ 1%7:-2431; 17(.)% Pw_ﬁ%yg_s)\ i%g’%?:‘ﬂ%]%)% %7:‘2‘4;&10%Og§ w0l g ‘ 5 ‘ c ‘ 4 ‘ c E - AME
B750hns 8w gD R TE A TVE IR TE IR wiea e 3080 B3 1gy - [35 2
FIUEN & 276|B2-6 1118|B2-588 ZEEEE _| 530 — R
616000505V yT sgu 606 BRE NS R mak o SR Gl mak D an SR e, e me || g
i ; 4 1411 3 51 1.46.8 o 51 2045 59 70| S SRR aon 11w | BABKSEIEAICFOTRASRNE 18 64 7 19
B TTOB M il Rty T R TR B B T e R e SR
TRTacESTES 7268 11/21 SR 9F 2% 6A|_11/8 10R H0R / 2
Te / M -5r8 mEEE 5/B2°6 wERES oAl 1074|825 2-3 T2
7 AE}ZIE;TjgﬁE’T TS s o BUE PSR S el g | o7 ol mak Sk | O | dsok o iz | BERELAEFULE, BT o
! = 2 11373 55 7as| (12088 )i 9 | 2143 o0 5, MER | = | PUWE | 5o | THOFTC T CRIIENEE
PEES 670 MW BA  lesmul 21 ol EEERT] 22.7 7@ g%vﬁa?)\ meew 119 poAfus— TewRy |bed mEEw 109 20 12 218 1¢ 2 8 I8 cecalce
R=CERFATT e 2672 11721 "9R —ob 9% 8AT_ T1/7_O9R_ OF _ SIS e R omadE  heley 42% 2 ‘ ‘ ‘ ‘ ‘
BAF/ TR b 282|B2-6 961|B3-7 ZFE2[0NDICA . 97 ES) . 91 R - - L -
8 HH)XATY S {hea Tt 5 | iag B e 2 o118 et A4 |0k O | Gk orr mEuRmms, L-250mmuss | (B ey
1.56.4 3, 63 1.53.9 44 50 2.11. 46| T | il B | pan 100 | BIAE LAHFECESH
; s SO B e e T U e U T S el TR 0 4331 s
RV E LR 2893 11/21 9R OF 6% 5 . — % T T
5 ® / / -5ipE mEmEs 1010(B3°8 H1498m9%  1003|B3 B3-3 73 =
9 AT=9 TS o o ke S S wil 1 Tan ekl mE 3 | &k | 8 | &bk Mo M LT, BE SR
e 3 6 | 1535 3 787 Pk B/ S T— 2.00.4 4 59 B L EEA Loon] 6w | TROFUSATIRSENE % 6 4 3
Mem 670 IR BB lwmwnliss snrL EEER SSuh5 D= [RERE| 1.4 AT TEEEC] 2192 [EFEE] 9.09.2 )(%
5 : 3
275
=73 § [ T/2T R 33 T/ R 33| T8 TR I [ T/6 TR I 0728 TR IW[ T/B R IIW|  hkk BEL—Z kK R3.11.21 9R | EB ‘ 6 4 3
BE AEIF . BEE BE 1R BA IHEARF | B25 MALHTEYAL | B38 H1 4 OEMHR | gridkdd: 3.3% B2-6 =3 FE PN 3 v
== BES & 2 mlpl= B2-6 BI-43R4 B-SEA BEBERE | BI-AREA HE ELE = s 5 =
' T80 ISR - B _HER 15 977 660 m@E 1352 2A%| 18 g 4/3 | 1 5‘
11|98/ 0—=HR (@] A 7 2.04.4 1.50.5 -
680 FRILE g 670 BEHE 2 2 2HIF 2T 670 MWE 1.37.3 6AS =1
2|2 |#F% A © 0 8 2.06.9 2.15.6 :
680 EREFE 5 660 BEEE 3 7 Ave—0O-— 670 B2 1.44.0 3A&
3|3(9h/F14DY OO 5 1.58.8 2.0 =
680 BIEEEC[ 5 [ 670 BIER 4 1 9N5YvT 670 25AE 1.47.1 AR
4|4k box—A— | O A 2 1.53.2 1.45.2 ke :
A|O|[7 B0 _E==F 5 B4 _FEIIE 7 640 R 5 3 J-LFYA1Y— 670 £@F 1.49.0 AR
- *ﬁjit{&;t} A o) 4 S HAE 3 66??'225%% 3 B60 B 6 6 T-J~ 670 [EIE 1.53.5 5A&
Sloipnoey 670" R 560 fhILE o B0 TWENE 7 4 N/1FLEX 650 =2E 1.54.4 4AR
7|7\ RE=F/RT 2 1.37. 7 2.03.8 ! =
YhI ALY || s ® FFE o O WUE|[8 9 yn/x17y 650 @mEE 1.56.4 8AR
8 P . . . . =
8o lt=r= ) 6 6753 zgﬂéﬁ;ﬂﬂ 880 A 1 B0 O] 9 8 tH/X(KY 650 ALE 2.06.0 TAR




